~15-10 = (=15) — (+10) = (-15) + (-10) = -25




2. x7b-1Ht -3 7F 22 A5olth x, —x, -3 9 Ha BAE
HE2 7] B A2

DO x<-x<-3 @ -3<x<-x ® x<-3<-x
@ —-x<-3<x @—3<—x<x

-1HG 3T A2 FE=-1-(-3)=2°th. Fx=2, —x=
-2, O]E& -3 < —x<x O}




3 3 5 5
- - - - 1
@® 5 @5 ® 3 @3 ®
gxle
5 5
:1 - = =
X ><3 3







O 3)+(-6) @E+E5) B (-5)+(+2)

@ +3
® -3
@ +1
® +5




9  @o

-10 < x < 9 & WE55h= A5 x 9 =S T2 oHH?
® -8 @ -9 ® -10
,7,8,9

_9 , _8,_7 o
W5 HsHA 0




o

\l/\)
_~ o~ o~
621_'1_'4
T+ = T
~ ~—
+ + T + +
\))&/\l/\l/
73+m_ow6
L o =z 4L
Il I I Il Il
$53177%
RSN UERNSEENUE
| T A
E 5 B9 %
[ S S

~—  ~—  ~—  ~— =

@®
@)
®
@
®

‘ ® (+5) = (+1) = (+5) + (-1)




D (~1)2 +6x(-2)3 =1+ 6x (-8)

=1+ (-48)
= —47
@ (-6)x (-2)2+3 =(-6)x4+3
=-24+3
=21
® (-3)2x (-2)> + (-6) =9 x (-8) + (-6)
= (=72) + (-6)
=78
@ 12-(-4)?x(-1) =12-{-(16) x 1}
=12 - (~16)
=12+16
=28
® (-4) =23+ (-3)3 = (-4) -8+ (-27)
= (—4) + (-8) + (-27)
=—(4+8+27)
=-39

S =78 < —47< -39 < -21 <28







10.

hee MAsk 95 2 §EZUY Wit 05 AgT @
£2 dnkelrl

® 6/25 &

© (1) dutelA 60009 W

> (@) v U 76l 30009 AH§
Lo (3) HEo] ArH =1 100099 AHE-

A QA pfD

O 1500 ¢ @ 17009 @ 1800¢
@2000% ® 3000¢

B

(1) dutollAl 6000 Y-S BIgko =2 16000 Y o]t

(2) nl& FHE Aol 3000 € ARSI B2 3000 Y o tt.
(3) Eio] A} wi=g] 1000 Y AHEEFA R ~1000 Y o]},
weba @5 AHESE He =2

(+6000) + (=3000) + (~1000)

= (+6000) + {(~3000) + (~=1000) }

= (4+6000) + (—4000)

= 42000 () o]t}




11, o8 AR T % (1), (2), (3) 14 o188 BAS A2 Boje?

(=20) % (l—l)—(—m)
=(=20) x(3)+(=20) x (-4) (- 10)1(1)

=(—10)+(+4)—(-10) j )
=(+4)+(-10)+(+10) j 3)

=(+4)+0

=4
O LLEREEEREEE
@ wuHa, A%, LEE
OELTEREEERELEE
@) sa, merga, 2ea
® LW, AL, 2upE

(Lax (b+c)=axb+axc— 2]
(2a+b+c=b+a+c— WHHZ
(B)@a+b)+c=a+ (b+c) > B




12. A5E 5719 Aol f2l4 FoIA ol Al 28 ek AR Boto]
A5ghe Foem g, B47 e A

H7
1 3
-3 -3 o +2
3 9
® -1 @ -3 ® -2 @ -3 ® -9




13. & % Al §94 a.b,c ol skl A

e AL
® ax(b-c)=axb-axc @ (axb)xc=ax(bxc)
@a—b:b—a @ axb=bxa
® a+b=b+a
® WAl meEo] A o




the 278 BE SR Al A4 0,b,c o H5ko] a—btc o] &

@ +1 @)+2 ® +3 @ +4

® +5

. Jal =20|B2 g = +2 EEa= -2 O[T},
7, e oJsiA g = -2 o]t

C.cEaq B0 30E & Fo|BR
c=-2+3=(-2)+ (+3) = +1 °|th.

2. b=a-19°A

wetd] g =-2,b=-3,c = +1 °|B&
a-b+c=(-2)-(-3)+ (+1)

= (=2) + (+3) + (+1)

= (-2) + (+4) = +2 °|th.

b==-2-1=(-2)- (+1) = (-2) + (-1) = -3 eItk
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